FLLX—HERA

THOFE SA7ZLULF—BIUR (FLILF—EER) PR — 1
B 5A1E(A) 5E28(K) 5E8E(A) 598 (K) (§H1OEOM
. IR N N oD K4 yF
FEB|CIEA ZlFA ZlTA ZlFA N RIS
47 |O% T, O%FH, PE=E] PE=E] CEEEEE]
b =17 51) (CL3] CEETEET (£8:1) CEEDLCESE)
=+ ®Z(19.5) QD= E(26) L oAt 4 (45.5) KHR(32.5) = £4=(52)
®Ep(195) KIB(26) = £ 4 =(65) ®%(26) H1)—La—(52)
< &1 (13) Q=A(19.5) ®EA(39) =4 CA(13) L oAt 4(26)
(= A CA(13) QX=(19.5) WEEC(13) INHAZ(13) 1= A CA(13)
h=(13) ZIE>5(19.5) (=4 C A(13) MEEZ(13) ©~—32(65)
AOEEF104) | AE(Y SRVAITAE6S) | SAZB<() ROA PROIAES]
2 |owsre) = 4 C A(13) O L 5 51(65) L v 1$(0.65) /521 (0.39)
L (1.3) DebEHZ(11.7) AN (2.6) ODL £ 51(5.2) DOERLE L DE(2.34)
HHH(0.78) E(2.6) HAHY(1.3) AHY A(1.3) B4 >(13)
‘@°¢Db*ég> A Y (3.9) K& Y 4(0.65) #(0.39) 1(0.13)
A& Y A(1.3) 24 (3.9) = L& 5(0.05)
1(0.39)
LAY Y(5.2)
o= (< HhD o (£5BF0 (%8> T n—F
[75 0&77’(] 3,_5%%,52%] [%/\J‘U“Dk—(ijl [Ngi‘%ﬁ\(d’] :ll:]“J/T]
o= = - N TExon—F
MoBTS4 1EG)| 5 < b 3{E60) ZIE>5(39) Q4151 3/E(60) DR s
3%3561(5) BLEDE0.39) @4 H(19.5) (=4 CA(13) <3h(5)
S @/ E1(3.9) C Al <(13) = £R=(13) o
S| tvows754) TAB.3) (<A L A(65) @EA(13) RAREAESAN
11 prop H31(6.56) @B £(1.3) DE#%(7.8) MEB
T (@@ 0L &5 1(39) AN (6.5) 0D/ <1
O/NE 1 3% (1.95) AHY A(1.3) ®BA
O DT AHY A(1.3) TS
@ %:31(0.65) DREH
D= A
QAR
(L0LEESNAD | BFYRUD (58U A ) (R LEBX
" SEMZ) M YFIZ]
s | teLes %0 RY(32.5) @Y A 1E4D) %0~ (32.5)
w| E3nAE3) Y F LAIR(1.3) =4 CA(39)
@By = %(0.65) A Y#(0.91)
] @B =%(0.39)
v (@D L 5 51(1.95)
+E(1.3)
(hLbb5) [(0HLOTF LA EETERSS UheEhE Y — <)
ALbbs HEGD) | FLAIE 15(5) ORKET s |0BEmY—x 1m0
%
D LKHhLbhbEBE> LKFLMAE>
| NEHHA Wb L
4 YOS
QAR =
() ARMERE B 754
X 7LILE—EDI L 1Z ’DL\—C RDES cLTWET,
O---5n NSRS A NI
ORI QFLos oL @ % ORI
©- &2 D-K= ®- B @ NFF ©- KA
@%b @ -pEND ®-YAal @--£>Fv
O BE (Fhfih (Y 203 yY) ©®-B (Y - FfT%)
1 \/L§Tén56f CONTEE. mIMBDOLSTF VICEZNdBMEeN 7 LILT V&R LES,

2 PULF—BITXDRAIZDONTIE, F&ﬁWNO.1J§%%LT<EéuO



FLLX—HERA

hEe— 2
H 58118(K) 58128(%) 58158(A) 58168 (K) 581780K)
T&|CIZA ZC 13 A Z1E A ZC 13 A TEC1E A
e CE=ED L] CEE] OF 4 L]
(£F <) )\ =% ) (FREEFZRED (ZAB0D
S5F&E] NV Fa—]
®LFI(26) ¢ ~(52) 1= F 42 %(26) = E 4 =(78) %4 =(52)
@R H(195) - E 42 =(52) ®LR(26) L >7=%(39) LA (45.5)
1A CA(3) DLH(39) =+onZ(13) Q4+ ,(26) OfKP(26)
MmEFE(13) (= A L A(26) IZA CA(13) DEE(26) =4 L A(13)
ZDEEH(13) OBFM(32.5) MEFEZ(13) 1=(19.5) 2w 2 l—Ai(104)
R=E(13) = +o = (13) 1 =(7.8) @4 5.(195) IZ A=< (0.39)
£ < (65) FUHUHA(18) | £5552L65 | 2ALAGY) Nreoiansl
§ L & 5 #%(0.65) 0L & 51(39) iH(065) T #(13) he bk Ea—L(13)
E(1.3) I ¥2(0.65) ODL £ 5(3.25) I 3(3.9) Y —2(2.6)
£(0.01) @ %31(0.65) 1£(0.39) 5E(2.6) FI4>(1.3)
& A4IY(5.2) 1£(0.13) @ %31m(0.39) B3 74 32(0.65)
Z L &5(0.07) Z L &5(0.04) F3W(0.13)
TAH(.3) 1(0.13)
Z L& 5(0.03)
(2354 2DE] [”’”;gg] COEZ ) [= (3R =] [ v F—]
= £ 42 Z(39) =15 Y(39) DAE(32.5) & (LERMRIEEE 1{A(60)|@ 4 »F— 3A(60)
(OFKPI(19.5) ®Y 54 F*£2(26) - F 42 =(32.5)
Q4 FI(19.5) E545220L(13) |OBRE(26) (& IZ4RIFRES)
@DAX=(19.5) IZA L A(6.5) [ZA L A(6.5) ®IF
* ¢ ~(13) @EhY Z%(3.9) D#=(6.5) QAR
S| =atals) @E¥Y ZE(1.3) L & 5 £%0.39)
z *7*7**5%) ODL £50(234) |@DL &5 1(3.25)
11 v—=(3.25) FH(1.95) 3% (0.78)
| (0.65) KFE(1.3) 55(0.65)
# L—(0.39) @ %3m(0.26)
F 1) /%9 £—(0.03) — R EFEF(0.03)
_ - H—1 bRy 4—
C4E/S1 7w T1L] (2> Unmmz] | [E=v5 4]
4 F v 7L 1{E40) =15 Y(325) * 4 R(19.5)
» BULH.63) =5 Y(13)
A ODL &£ 5r(0.33) IZA LA(6.5)
1) F5(0.33) KB (0.52)
: 5 431(0.26)
x (BULSE) +8(0.26)
Y] g #(0.13)
Ui ZL&>5(001)
@R
— . [7o—X>
N i /e ©@3—4 Lk 1E(60)

() RIEMERE Bf: 774



FLLX—HERA

i — 3
B EIEEIES) EAT9E (%) 5A228(8) 5EA238(X) 5A 248 0K)
T5(@V 7 hidbA = A b Zld A =T (A OODB LD o
57 |0E T, REET REET CEEN EET
GEEINT (A5 At (hygEz—7] |EEROED ) g s prpz—7)
- £ ¥(84.5) DEE(26) - £ %(32.5) Cotting(117) - £ %(585)
OBA(26) KHR(26) ko £ $(26) £ Eh=(52) @®BH(195)
@E>2FHBF(19.5) Al <(19.5) ®E,|(19.5) C A%< (26) IZA LA(13)
= A C A(13) =4 C A(13) = A L A(13) = A C A26) E5452 L(13)
£E5%552 L(13) CE>5(13) . =(65) OBR(19.5) 1> %(65)
.| FT0TES) h=(13) L5452 L(65) 71y E—2(52) FEREO—2 ~(3.9)
&| 7uve—265 |Da@TQe) BORETZ2 TOR | @DLE59(8) | KEU003)
DEH7(13) 0L £ 51(52) O L &£ 51(1.56) fh(3.9) ®F £ 74 32(26)
H(5.2) @ %38(0.65) SE(1.3) K& Y A(13) '®5¢DL*5QN)
58 Y(5.2) 1(0.39) 1(0.13) 1(0.26) QOEARE LHE(13)
© A(1.04) A Y (5.2) Z L& 5(004) CL&5(003) #(0.39)
Z L &5(0.04)
‘ . — FOC=EAY - :
(507 L] [BBADT Y A ] LB % &5 ) oL gay | (EBPEZE)
44 L(32.5) BAGTHA) EG0) | =& 5= 3E(54) fEhE(195) ¢ R (39)
3 4 R Y(26) SH34(6) Fe3pa(5.4) ©BAI(32.5) 7 (£(39)
1= A CA(91) 0L £ 51(65) E545%5-L(13)  |OKRN6)
E5AE(91) th0(5.2) (F&5%) =4 L AO3) £ (19.5)
DB IF(3.9) &4 Y 4(0.65) OBA DHE(3.9) = 5(6.5)
LodF L(26)  A45(0.39) FpRY O C=(1.95) = A L A(65)
S @&+ v =208 O NEH 0D L £ 51(39) = A= < (0.13)
2 |@@L £ 58(1.95) <A rEEh= th(2.6) th%W(3.25)
7| £ats ®BH ®BH A2 4/(0.65) DEHZ(26)
| *BF0.65) TAM LR A062) M A
DF vk @R NEER ODL &5 (1.69)
O DI 5E(0.65)
@ Z % 3#(0.39)
1£(0.13)
ChZ )
@ /NEH
DFREE
(50 L0 . —
£ L(31.2) x6p35Y(195) DHE(13)
= 4 CA(3.9) S Rw(13)
& 5 B 7(1.95) = A L A(6.5)
x @B £(1.3)
i (EEH) %% = 5(0.26)
: B FHE(1.95)
ES | ORGP ODL & >5w(1.95)
L) +RA(1.3)
@ = %3(0.26)
12(0.13)
ZL&>5(001)
= (Z5F5 7]
F—~ 185(20) =581 14(10)
z (% 5THIT)
fth ./J\i*ﬁl\ \
DE o 18 & —
EalES A

() RIFMERE BEfu: 774




FULILX—HEHR

chh —

B 55 25A(A) 5H26A(%) (gﬁ29a(ﬁ) 5H30A(K) 5531 AK)

- CODH Y FAvF .
2|14 A TR A AN ZlEh
= B 047, 047, 047, 047,

(X% =T 1] (ZABD gy (5% CEA] (EHZ ]

HL—Fa—] ROTS

D= E(39) - £ %(52) - £ % (52) %(60) D= E(39)

X &0 5(26) CoAtin g (45.5) k< ~(26) 3.%(30) *AR(26)
f—i#’a?ﬂ 5) OKR(19.5) @< Hn0=(234) ®EA(18) ®Em(26)
OKKE(19.5) IZA LA(19.5) OKK(19.5) CAlzw < (18) IZA LA(13)
= 4 L A(6.5) 291 ll—L(65) |DKA=(13) £ 5%(12) INAZE(13)

R E(6.5) A< (0.13) 1= A CA(13) C1E5(12) 2D =1 4(65)
DS 1F(3.9) ﬁ”_”ﬁﬁgg] 2y v al—Ln65) | EHo=(12) D¥kHZ(11.7)
I= 412 < (0.26) D=A13) I= 412 < (0.65) =4 CA(12) Ay A1.3)
D beHZ(11.7) D= 2(26) /342 1) (0.07) DI (2.4) L5 (39)
A Y (3.9) B T4 32(13) *7*7?ﬁ%; E(1.2)
=2 fbTFyy ®FF>J143> -
& 3) | 7 (e |®DLx580D
O L & 5¥(0.65) 7:77Xé33 SE(2.4)
5L —(0.13) J—2(39) FR(1.8)
#£(0.13) =74 > (1.3) FA Ln(0.48)
S L &5(003) FhR(1.3) #(0.12)
A1) — T5(0.65)
1#£(0.39)
S L& 5(004)
(TTTIRAY—R)
O /NEH
< bR—X K
ORI E=:
(suncmpr) | TAFI200 | vrys g (honELLebT500 | [ppymsps)
VR CEBIF(G85)| Fv~v(26) EComET209) | FHISSELLEY oEe39)
:3¢(5.85) £E34552L(166) | Fv~v(26) S$58(6) =R E(195)
S Zp>55(13) x5 Y(26) @E=£(13) + v Rv(195)
2| (zuncERT) F ¢ BEF(13) E34%CL(65) |@BTY%(065) = A CA13)
j =R 7 285 HZ(13) [ZA L A39) 0L £ 5w(3.9) FRIST ) A(3.9)
1l DL £ 5(1.56) +E(1.3) Fh(3.9) L & 5 #%(1.04)
CYE L3 TE1.3) ODL & 5 (1.04) KHY A13) I= &= < (0.26)
D4 ERH—(104)] #(0.19) TA#(039) 0L £ 5b(26)
%3 % 3H(0.65) Z L &5(0.03) E(2.6)
1#£(0.13) h(1.95)
S L &5(003) #(0.13)
% (é@?U@ ] AE77) a3y k) [ﬁ5@h§&_ GESC)
2 L_iL:otDKD%Dz] ‘ (RH=0 L) ?L%(D%ﬂz%]
w| =05Y325) FIuay b 1860|| ,p= F5 M AL(26) O 118(60)
- l@m¥y o=065) O DT K% £ L(13)
R |@DL £50(1.3) \thuh@w
¥ |@= % 31(0.26) SO C =(3.9)
[NETG U -
(DY HE] 2 35—=) (BXDAEIL K]
- \\7"‘ 7, — & S Al
oY ERIE10) mdb?a?mgmm &*@@aﬁ%@&
%
D (DY HE) (L3 x—X) | (BEXOZRILL)
| ou QxEH o/ =)
LJuE PRt QWE R AE OB
AkkE 047,
OODMHAZ

() RIEMERE B

AEFN




